ERER

O

ooo oa ooo oa ooo

O000 0000 D000 00O O000D00=The man is telephoning the woman
*00(@)00O0 g3 =telephone, make a phone call, call
* [te-form] O O O =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

oo oo O

ooo oo
0000 OO0 D000 O00000=What does the man buy and bring home?

{Both the man and the woman use the plain-style to speak.}

M:

oooad DDDD god DDDD 5 Od DDDD O O O =1am going home now, so shall | buy something
and bring it home?

* DDD O = <plain-style-nonpast-affirmative> of DDD 0 00O g1 =1come back, go back, get back, be
back, return 2 come home, go home, get home, be home, return home 3 leave

*EDD =0000000=buyand....

* [0 0 = <plain-style-nonpast-affirmative> of 0 00 0 0 g1 (buy)

* te-form is often used to join sentences or to mean ‘by (means of) doing [0 , with doing [0 ’. And
it is sometimes used to show reason as well.

* DDDD O O =less polite than DDDD 0000 O =1 Shall we return together? 2 Shall | return?
* volitional-form O /[masu-form] O O O O O =1 Shall we do [0 together? 2 Shall ldo O ?
*0 00 =volitional-form of 0 0O O O g1 (1 come back, go back, get back, be back, return 2
come home, go home, get home, be home, return home 3 leave)

F:
[0 O = Ah! (expression of surprise, recollection, etc.), Oh!/
O000000=Thank you. //

000 O0O=Let me see, ; Let me think, /
0 0O O = Fresh milk. //
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00 OO O = after that, and also, | want to mention one more thing //

O
O000 ODDO0OO=lesspolitethan D OO0 OO0 O0OOO = please wait for a while.
o000 gl =wait//

oooooo oooo

OO0 0 100 00 00 =Regarding fresh milk, is it OK with one bottle?

* 00O = <plain-style-nonpast-affirmative> of [ [0 0 0 = (X) is good

*[O0 0O = <plain-style of> ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] 0 0
O0’= ... , | wonder? //

ooo

oo
000020 000 0= Let me see, please buy two bottles.
oo
*O0O0 =less politethan 0 OO O OO =please do me a favor. //

M:
0000000 00 00ooO oo0 g dds=Well, there was still a lot of cheese, right?

*OO =1that 2 <used to express doubt and suspiciousness>
*0 00 =there was [0 = <plain-style-past-affirmative> of 0 0 00 O g1 (there is O, have, exist>

*O =....,, you know? ; ..... | tell you. ; ....., | am convinced.
*O0=...,isntit?7;..... , am | right? <confirmation particle> //
F:
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*O 00O = ate = <plain-style-past-affirmative> of [ 0 U [J g2 (eat)
*O =00 =<plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun]
da’becomes ‘na’.)] 0 OO’ =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

- [0 can be changed to . //

I:JD;

0 0O O O = I understood. OK. = <plain-style-past-affirmative> of 0 00 0 O 00 g1 (understand)

ooon 5 00 DDDD 0 O =Then, | but it and bring it home.

*EDD =0000000=buyand ...

* O 0O = <plain-style-nonpast-affirmative> of 1 O U [0 g1 (buy)

* te-form is often used to join sentences or to mean ‘by (means of) doing U , with doing U . And
it is sometimes used to show reason as well.

* DDD 0 = <plain-style-nonpast-affirmative> of DDD 000 g1 (1 come back, go back, get back, be
back, return 2 come home, go home, get home, be home, return home 3 leave)

10
oo0o OO0 oo0o OO oo

000 0000 000 0O000=The man and the woman are talking together.
gooo oo oo gooooo O

O0000D00 0000 ODO00OD0D0OO=How does the man go to the art museum?

{Both the man and the woman use the polite-style to speak.}

M:

gooooao

0000 =art museum + 0 <arrival particle> /

00 00 =<plain-style-nonpast-affirmative>of J U [J 0 J 0 = wantto go
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*[masu-form] 0 00 0 =wanttodo O /
000 =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] 0 OO =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

- [0 can be changedto [I./

O00O=1but 2 <used toshow a hesitation>/

DDD 0 =1 by means of what, by means of what transport, how 2 why/
ED J =to go, going

* O 0O = <plain-style-nonpast-affirmative> of 0 J I [0 g1 =go

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /
[J <subject particle>/

Oooo

0000 =(X)is convenient /

[0 <question particle> //

| want to go to the art museum, so what transport is the most convenient to go there?

gooo O ooooo

OO0 000 10000 O0O=If you go there by car, it takes ten minutes.
*0O 00O =conditional-form of O O O O g1 (go)

M:
OOOOO0O=1Isee. Isthat so?

gooo

00 =train/
O =or/
OO0 =bus/

00 =even/

]

0000 =can go, be able to go = potential-verb of 0 O O O g1 (go) /
0 <question particle> //

Can | go there even by bus or by train?
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F:

O000=hmm, well, /

O

0000 =can go, be able to go = potential-verb of [0 [0 10 [0 g1 (go) /
O00=1but 2<usedtoshow a hesitation>/

OO0 O00OOOgg 0o =ittakes time //

Hmm, you can go, but it takes time.

ooooo O

0000 OO0 00000 = Do you have a bicycle?
*0000 g1 =hold, possess, carry
* [te-form] O O O =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

M:
OO0OO=Yes.//

ooooo 0ooo

oo
O000000000 O0DO0 O0=Then, riding a bicycle is more convenient to go there.
* O 0O =1 direction, way, side, area (in a particular direction) 2 side (of an argument, etc.),
one's part 3 indicates one side of a comparison //

M:
OO0O000O0O=1see.Isthatso?//
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ooo oOooao ooo oooo oo

O0000 DO0O000 OO0 0000 =The male student and the female student are talking
together. //
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{Both the man and the woman use the plain-style to speak.}

M:

goooo ooao goooo o

0000000 O OO0 OO0 O0=Nextweek is Mrs Satou’s birthday.

* [na-adjective, noun] 0 = <plain-style-nonpast-affirmative> of ‘[na-adjective, noun] 0 [0’ =is

(are, am)
*O0=...,isntit?7;..... , am | right? <confirmation particle> //

OO0 0000000 00D0 =Didyou buy a present already?
*O 00O =bought = <plain-style-past-affirmative> of [ O U [0 g1 (buy)

ooo O

000000000 =Yes, | bought a bag.
*O0 00 =bought = <plain-style-past-affirmative> of 0 O U [0 g1 (buy) //

M:
0000 =<plain-style>of 0 0 OO OO =1see. Is that so? //

oo

00 =1+0 <topic particle>/

00O =not yet, still /

EDDD 000 =00000000000=cannot decide and ....

*0000D0O0O =cannot decide = <plain-style-nonpast-negative> of [1 J [J [J (an decide, be
able to decide) which is the potential-verb of [0 00 0 [0 g2 (decide)

*[nai-form 00 - OO0O]=1dontdo [ and .... <used to join sentences>

2 don’t do 0 and therefore <used to show a reason>
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DDD 00 OO =<plain-style-nonpast-affirmative>of O O O [0 O O =be in trouble now
*0000 g1 =have trouble

* [te-form] O O O =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

00 =00 = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun]
da’becomes ‘na’.)] 0 OO’ =

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

- [0 can be changed to . //

| haven’t been able to decide (what to buy) yet, so | am in trouble.

F:
0 O O = <plain-style-nonpast-affirmative> of 0 0 U [0 O = | see. Is that so?

O0000000 OO0 =Then, how about a cup?
*000 =<plain-style>of 0 00 OO O =How is (X)? how about (X)?

Oooaog [} O
0000000000000 0000 ooOg oo O0=Mrs Satou likes coffee and she often
drinks it.

*00 00 =00 000000 =like and .....
* [na-adjective, noun] O = <plain-style-nonpast-affirmative> of ‘[na-adjective, noun] 00 [ ' = is

(are, am)
* To join the sentence which ends with [i- adjective / na-adjective / noun] [J [0 ’ to another

sentence, ‘[stem of i-adjective] [0 O or [stem of na-adjective / noun] I ’is used .

We call them te-form of an adjective and a noun.

To join adjectives, we also use te-form of an adjective.

And it is sometimes used to show reason as well. te-form of an adjective and a noun can be
used in either the nonpast sentence or the past sentence.

* In addition to ‘[stem of i-adjective] O 0O, ‘[stem of i-adjective] O ’ is also used to be more

formal. /
*000 OO0 =<plain-style-nonpast-affirmative> of 0 OO 0 0 O = be drinking now

*O000 g1 =drink
* [te-form] O O O =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

7124



]
googoboobbbo ob boob bob ob boobod b00O=Hmm, but she may

have many cups already.

* 5 00 OO =<plain-style-nonpast-affirmative> of 0 0 O OO O = be holding now, have
*0000 g1 =hold, carry, possess

* [te-form] O O OO =1 be doing now 2 <situation, state> 3 <habitual repeated action>
*0O0 O0O00O =<plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective /
noun] da’ must be omitted.)] 0 0 OO 0O 0O 0O =may do O, maybe do [

* [0 O = <used to convince oneself> //

F:
00000000 000 =Then, how about a towel?
*O 00 =<plain-style>of 0 0 0O OO O =How is (X)? How about (X)?

00 O00000 00 O00=Because she often plays sports.

*00 00 = <plain-style-nonpast-affirmative>of 0 0 O O [0 = be doing now

*OOOd g3=do

* [te-form] O O O =1 be doing now 2 <situation, state> 3 <habitual repeated action>
*0000(@)000 =play sports //

M:
0 0O 0O O O = <plain-style-nonpast-affirmative> of 0 0 0 0 O 00 = 1 Let me see,; Let me think, 2

That’s right. | agree with you.

000000 O00O0=Then, | shall do so.
*O00 =1let'sdo 21 shall do = volitional-form of O O O g3 (do)
* volitional-form / [masu-form] O 0 O 00 =1 Let’s do O together. 2 1shalldo O //

O0000DO=lesspoltethan00 00O O0O0OOOO=Thank you.
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ooo oa oooo ooao

O0000 DO0000 OO0 0000000 =How many tickets does the woman reserve?
* [0 0O =how many sheets (pieces) <for thin things> //

{Both the man and the woman use the plain-style to speak.}

M:
ogooo

000 000000 00000 =the ticket of the concert of next month /

DDDDD OO0 O000=<plain-style>of 0000 O00O0O0OO =Can you reserve (book)? <request>
*O0OD0O0OD0 g3 =reserve, make a reserve, book

*X)O ODOO0O O [teformlO00 00O = (X) do O for me, (X) do O and (X) give me a favor
HREEN

Request:
[te-form] 0000 O =Canyoudo O ?

[te-form] 00000 O =Canyoudo O ?

[te-form] 0 O O O = Please do [

te-form] 000000 O = Could you please do O ?, Would you please do [0 ?
[te-form] 00O OO OO O =Could you please do [ ?, Would you please do [ ?
[te-form] 00 0 0O 0O O = Could you please do 0 ?, Would you please do [J ?
te-form] 000000 O = Could you please do O ?, Would you please do I ?
[te-form] 000000 O = Could you please do [ ?, Would you please do [1 ?
te-form] 000000 0O O = Could you please do [ ?, Would you please do [ ?
oo

F:
O0000D00=<plain-style>of 0000000 O0O=0K.//

oooo

0 O O = How many (thickets)? How many sheets? How many pieces?
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0
0 0O O = we two and four of our friends.

oooo

0000 60 O0O=Then, six tickets (six sheets, six pieces), right?
M:
(0 O = Ah! (expression of surprise, recollection, etc.), Oh!/

0 0O 0O O = <plain-style-nonpast-affirmative>of 0 O D OO =1 Itisso. 2 |recalled it now. /
0 000O=less politethan O OO OO OO=1am sorry. //

oo
U
0o

DD = one person /

0 DD 0 DDD 00 000 =circumstances became bad = <plain-style-past-affirmative>of 0 0 00 0O [
00O 00 =circumstances become bad, cannot make it

* [stem of i-adjective] O O O 0O O ; [na-adjective] 0 0O 0O O O = become [adjective]

*[noun] 0 O OO0 =become [noun]

00O =because U

Oooo Oooo

0000 =<plain-style-nonpast-affirmative> of U U [0 00 = (X) is five persons //

Oh, | recalled it now. One person cannot make it, so five persons (will go for a concert).

F:
[0 OO = Ah! (expression of surprise, recollection, etc.), Oh!/
O O O = <plain-style-nonpast-affirmative> of 0 0 0 0 O 0 = | see. Is that so?

M:
O000O0OO=lesspoltethan00 000 ODOOOO =Thank you. //
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ooo oo ooo oo gooo

0000 0000 000oood DDD 0 OO0 =The woman and the man are talking about

photographs together. //
*O 0000 =about (regarding, concerning) O //

ooo oa goooo

0000 00 Oodo D 0 0 0O O O = Which photograph does the woman send?

* 00 means ‘which’ and is used to modify a noun. //

oo ooooo goooao oo

OO0 000 000 D00 00 OO0 OO0O0=1wantto send a photo to my parents in my country,
*O 0O OO0 =<plain-style-nonpast-affirmative>of O 0 [0 OO O = want to send

* [masu-form] 0 00O 0 =wantto do [

* O 0O = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of {na-adjective / noun] da’
becomes ‘na’.)] 0 OO’ =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

— [0 can be changed to [I.

*OOO=1but 2 <usedto show a hesitation> //

oo
OO0 0O 00 0O 000 =Which photo do you think is good?
* [0 0O = <plain-style-nonpast-affirmative> of 0 00 0 O = (X) is good
* O 0O = <plain-style-nonpast-affirmative> of [ [0 J O g1 = think
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oo goooao oo oo a

OO0 00000000000 OO0 bOO0b0 O0=Regarding this photo of the sea, your face

is small and it cannot be visible (it cannot be seen, | cannot see it) well.
*0000 =00000000

* To join the sentence which ends with [i- adjective / na-adjective / noun] [J [0 ’ to another
sentence, ‘[stem of i-adjective] [0 O or [stem of na-adjective / noun] I ’is used .

We call them te-form of an adjective and a noun.

To join adjectives, we also use te-form of an adjective.

And it is sometimes used to show reason as well. te-form of an adjective and a noun can be
used in either the nonpast sentence or the past sentence.

* In addition to ‘[stem of i-adjective] J (I ’, [stem of i-adjective] [1 ’is also used to be more

formal.
*0 000 =be not visible, cannot be seen, cannot see = <plain-style-nonpast-negative> of [

00O g2 (be visible, can be see, can see)
*O0=...,isntit?7;..... , am | right? <confirmation particle> //

F:
0 O O = Yes, what you said is correct. //

00000 O 0O0=Then, itis not good (useless).
*[O 0O =1 useless, no good, wontdo 2 impossible, incapable 3 hopeless //

* [na-adjective, noun] O = <plain-style-nonpast-affirmative> of ‘[na-adjective, noun] O O’ = is

(are, am)

goooao

00 00 OO0 OO0 =How about this photo of the mountain?
*O00 =<plain-style>of 0 0 0O OO =How is (X)? How about (X)? //

M:
00000000 00 = Yes, this is good.
* ‘[i-adjective]’ can be the plain-style-nonpast-affimative of ‘[i-adjective] O O . //
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oooo

00000 100=Then, I choose this photo as one of the photos which | send. //

oooo ooo o o oooo

00 1000000000000D0O00 =Regarding, one more photo (another photo), how

about this photo of my room?
*O OO =lesspolitethan 0 O OO O OO =How about (X)? //

o O

000 =room + I <subject particle> /

0 00O =not so, not much, not really /

000 OO0 00 =not clean (beautiful) = <plain-style-nonpast-negative> of 0 0 0 0 O (be

clean, be beautiful)
0 00O =because [0 /

O00 00000 =000 00 0 0000 =had better stop (quit)
*[O 00 =<plain-style-past-affirmative> of [ U O [0 g2 (stop, quit, cease)
*[ta-form] 00 O OO0O0O = had better do [

O00=...., you know? ; ..... | tell you. ; ..... , | am convinced. //

The room is not so clean, so you had better give up sending it.

00 OO =thanthat/

oooo oo O oooo

000 OO0 000 000 =the phot which (X) took in front of the university
*0 00 =took = <plain-style-past-affirmative> of O 0 [0 O g1 (take) /

0 0O = <plain-style-nonpast-affirmative> of 0 0 0 [0 = be good /

00=...., you know? ; ..... | tell you. ; ..... , | am convinced. //

The photograph which you took in front of the university is better than that.

F:
00 O OO =<plain-style-nonpast-affirmative> of O 0 0 0O OO =1 Let me see, Let me think,

2 | agree with you. That’s right. //

ooo

00 200 OO0 O=1choose these two photos.
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*0 00 =let’s do, | shall do = volitional-form of 0 [0 [0 g3 (do)
* volitional-form / [masu-form] O O O O =1 Let's do O together. 2| shall do [
*(A) O [stem of i-adjective] O O OO, (A) O [stem of na-adjective] 0 O O 0 = make (A)

[adjective]
*(A) O [noun] O O OO =make (A) [noun]

*[noun] 0 O OO = decide on [noun], choose [noun], order [noun] //

ooo ooooooo oo

OO0 D000 oo
talking together. //

oo

oa
O O0O0O O0O0O0O=The male overseas student and the woman are

ooo ooooooa

oo O
OO0 0000 00O 000 O00000=What does the male overseas student take (to the
place)?

{Both the man and the woman use the polite-style to speak.}

M:

DDD DDD 0 =my friend + 0 <subject particle> /

EED OO0 =00(@) 000000000 =gotinjured and .....

* te-form is often used to join sentences or to mean ‘by (means of) doing [0 , with doing [0 ’. And
it is sometimes used to show reason as well. /

DDD DDDDD 0 OO = <plain-style-nonpast-affirmative>of 0 0 OO OO O = be in the hospital now
*0 0000 g8 =hospitalize, place in a hospital /

00 00 = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] 0 00O =

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

- [0 can be changedto 0. //

My friend got injured and is in the hospital now.
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Oooo

0000 O =for (the purpose of) a visit (an inquiry about one’s health) /

5 0 OO = <plain-style-nonpast-affirmative>of 0 0 OO OO =wantto go
*[masu-form] O OO 0O =wanttodo O /

000 =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] 0 OO =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

- [ can be changed to [J . /

O0O=1but 2 <usedto show a hesitation>/

DDDDD 0 O =Japan + O <particle which shows the place where the action takes place.> + [
<topic particle>/

DDD 0 =what + 0 <direct-object particle> /

000 O0O0O0 =take (to the place), bring

[J <question particle> //

| want to visit him in hospital, but in Japan, what do you bring (to the patient)?

gooo

00 D Oooo D 00 000 0O0O= We often bring flowers, fruits, etc. //

goooo 0ooo

0000 000 0O000 OO0 O0DO=because there is a lot of time in the hospital,
* D U = <p|a|n style-nonpast-affirmative> of [0 O 0 [0 g1 (there is [, have, exist) /
D 0000 D 000 O0=1think that boos are also good.

* 00O = <plain-style-nonpast-affirmative> of [0 00 0 00 = be good //

0 O O = Ah! (expression of surprise, recollection, etc.), Oh!/
000000 =That's good. //
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oo O ]
OO0 00 O 0O 00 O 000 =Because he likes to read books,
* 00O = <plain-style-nonpast-affirmative> of O [ J O g1 =read

* Here ‘no’ is used to make a noun phrase (to change a verb to a noun).
* [na-adjective, noun] 0 = <plain-style-nonpast-affirmative> of ‘[na-adjective, noun] 0 O’ =is

(are, am) //

00 O = Ah! (expression of surprise, recollection, etc.), Oh!/

0000 = after that, and also, | wand to say one more thing /

DDD O DDD 0 O =if your friend is a young person

*0 0 =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be omitted.)] 0 O =if O

<supposition> <lIt is followed by an expression that conveys the speaker’s judgement or a
question asking for the listener’s opinion.>/

oooo

O0oocbo oo o D 000 00O =1think that music CD is also good.
* O 0O = <plain-style-nonpast-affirmative> of [J [0 [J 0 = be good //

Ah! If your friend is a young person, | think that music CD is also good.

O000=hmm, weII/

oooo

goooooooo D 0000 OO0 =but my friend doesn’t listen to music much. //

oooo ooo oa ooo oo

000 ooboobogo D 00 0000 = In the company, the man and the woman are
talking together. //

ooo oa 0ooao oo oo

0000 000 D000 OO0 O00000=What does the woman do after this conversation
today? //
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{The man uses the plain-style and the woman uses the polite-style to speak.}

M:
O000 OD00O =<plain-style>of 0000 0O0O0OO0OO=May | talk to you for a while now? //

F:
OOO=YVYes.//
00 oooo Oooo oooo

oo
O000000000Db0O0b00 o000 ogobog odgo=lgotaphone call from our

department manager and | was asked to photocopy the materials.
*O000=00000000=hadand ....

*0 00 =had = <plain-style-past-affirmative> of [0 O O [0 g1 (there is O, have, exist)

* te-form is often used to join sentences or to mean ‘by (means of) doing O , with doing O ’. And
it is sometimes used to show reason as well.

* DDD 00O 0O =was asked to do = <plain-style-past-affirmative> of 0 0 0 00 O (be asked to do)
which is the passive-verb of O [0 0 0 g1 (ask to do)

* 00O = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of [na-adjective / noun] da’
becomes ‘na’.)] 0 OO’ =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

- [0 can be changed to O . //

oo
00000 D0 D000 =<plain-style>of 0 OO OO0 O OO0O0OO O =May | ask your favor?

May | ask you to do (photocopy)?
*O OO OO0 g2 =ask for, request, petition for

*[te-form] 0 OO OO =maydo O, itis OKtodo OO //

Oom

O00000=1understood. OK //
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oooo

]
00 0000 O0=The materials for the meeting of tomorrow, right?

M:
O00OVYes. //

00 0 0 O = after that, and also, | want to say one more thing /

ooooo oooo

0000 OO0 =(X) is the preparation of the meeting room

* [na-adjective, noun] O = <plain-style-nonpast-affirmative> of ‘[na-adjective, noun] 00 [ ' = is

(are, am) /
O00O=1but 2 <usedtoshow a hesitation>

o O

000 =chair + O <direct-object particle>/

oo

O00 000 0D0D00 =<plain-style>of 000 OO0 O0OO OO =Can you arrange chairs

beforehand? <request>
*000 ODO0O0 =arrange beforehand

*0 000 g2=arrange, line up, place ... in a line

*[te-form] D O OO =1 do O beforehand (in advance) 2 do O for future convenience 3
leave O asitis

*[J te o kimasu - [J to kimasu

* [0 de o kimasu - [ do ki masu

HREEN

Request:
[te-form] 0000 O =Canyoudo O ?

[te-form] 00000 O =Canyoudo O ?

[te-form] 0 O O O = Please do [

te-form] 000000 O = Could you please do O ?, Would you please do 1 ?
[te-form] 00O OO O0O O =Could you please do [ ?, Would you please do [ ?
[te-form] 00 0 0O 0O O = Could you please do 0 ?, Would you please do [J ?
te-form] 000000 O = Could you please do O ?, Would you please do 1 ?
[te-form] 000000 O = Could you please do [ ?, Would you please do [1 ?
te-form] 000000 0O O = Could you please do O ?, Would you please do [ ?
oo
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OOO=Yes.//

0 00=But,/

ooooo 00 oo

O000 O 000 0000 =They are using the meeting room now.
oo

*O000 g1 =use

*te-form] 0 O O =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

M:
0000 =<plain-style->of O 0 0 00O =1see. Is that so? //

ooao

0000000 000 O0=Then, you will do it tomorrow.
* [na-adjective, noun] 0 = <plain-style-nonpast-affirmative> of ‘[na-adjective, noun] 0 0’ = is
(are, am) //

ooooo gooo

oo
000 00D 000 0000 =The teacher is talking in the classroom. //

oooo 0ooo 0ooo

000 oo0oooo oo DDDDD 0000 OD000D0D0O0O0O=What time and where must the
students gather?

* DDDD O 0000 =if (X) don’t gather tother

*O00000 g1 =gather together

*[nai-form 00 - O0O0OO]=if (X)don'tdo O <conditional-negative> //

M:
O00=Well,/
00 O0 = afterthis, from now on /

Oooo gooo oooo

O00 00000000 000000 =1willinform you about the bus tour of tomorrow. //
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0ooo 0oooo o oo

U D gosuooogo D 0 0000 O =Please come by eight thirty tomorrow.
* D U4 g3 =come
*[te-form] O 0O 0O 0O = Pleaseddo O //

000 55 00 OO O0O=The school usually starts at nine o’clock, but /

DDfSD(Z?DDDD 00 000 =itis thirty minutes earlier, so

*[0 0 =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] 0 0 = because [

* Basically we use the plain-style right before ‘C] O ’°, however, we can use the polite-style to be
more formal. /

DDDDD good D 00 OO =please don’t make a mistake

*O0000D0O =<plain-style-nonpast-negative> of U [0 0 U [0 g2 (mistake, make a mistake)

*nai-form 0 0] 0 OO OO =please don’tdo O //

The school usually starts at 9, but you have to come thirty minutes earlier tomorrow, so please
don’t make a mistake.

oooo oooooa

oo0o oooo D [ D 000 D 0 O O = Please gather in front of the gymnasium of the

school.
*00000 g1 =gather/

O000000=Is it OK? Are you OK? //

goooo oooooa

oooooooooooo D 00 OO =(You must gather) in front of the gymnasium, not the
classroom.

*Inoun|OO OO0 =[noun] 00 OO0 =...... , hot [noun]

801

Oooooo ooo oag ooo

0000 oooo oo d D O D OO0 0000 = In the library, the man and the person in
charge are talking together. //
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ooo oa

oo O
O000 000 OO0 OO0D00O O00000=Which button does the man press after this

conversation?

M:
O0O0000O0=1Excuse me, 2I1amsorry.//

0000 =alittle, for a while /

goog DDDDD J = how to photocopy + [J <direct-object particle>/

*(A) O [masu-form] O O = how to do (A), the way of doing (A) /

DDDD 0 000D DO0ODO=Would you please teach (tell)?

* DDDD 00 g2 =teach, tell

*[te-form] DO OO O = (X) do O and (Y) can receive a favor from (X), (Y) can have (X) do O =
potential-verb of ‘[te-form] O 00 0O 00 0O’ ((X) do OO and (Y) receive a favor from (X), (Y) have (X)
do [J

*[te-form] DO OO O O =would you please do [0 ?

*[te-form] DO OO OO O =would you please do 1 ?

000

Request:
[te-form] 0000 O =Canyoudo 0 ?

[te-form]0 0000 O =Canyoudo [07?

[te-form] 0 0 O O = Please do [

[te-form] 000000 O = Could you please do [ ?, Would you please do [1 ?
te-form] 000000 0O O = Could you please do [ ?, Would you please do [ ?
[te-form] 000 O 0O O = Could you please do O ?, Would you please do [ ?
[te-form] 000000 O = Could you please do [ ?, Would you please do [1 ?
te-form] 000000 O = Could you please do U ?, Would you please do [J ?
[te-form] 000000 0O O = Could you please do 0 ?, Would you please do [0 ?
agoo /

Would you please teach me how to photocopy?

oo 0
OO0 0000 OO0 000 0dd=1press ablue button, but
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*O 00O =pressed = <plain-style-past-affirmative> of O [0 O O g1 (press, push)
*000 =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] 0 OO =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— [0 can be changed to 0. //

5 O DDD OO0 000 0000 O00D0O0=To my regret, the words (characters) become small.
*O000 D000 =toone’s regret, (X) became = <plain-style-past-affirmative> of 0 0 0 00 0
00 0O (to one’s regret, (X) become)

* [stem of i-adjective] 0 O O 0O O ; [na-adjective] 0 0O 0O 0O O = become [adjective]

*[noun] 0 O OO0 =become [noun]

*[te-form] DO O OO g1 =1toone’s regret, he does 0 2 finish doing O completely

*[O te shimaimasu - O chaimasu

*[ de shimaimasu - [0 jaimasu//

oo

OO0 OO0 OO0 O00=if you make words bigger (enlarge words),
*000 OO0 = <plain-style-nonpast-affirmative>of 0 0 0 OO0 0O =make [0 big
*(A) O [stem of i-adjective] 0 00O 0, (A) O [stem of na-adjective] 0 0O 0 0O = make (A)

[adjective]
*(A) O [noun] O OO 0O = make (A) [noun]

*[noun] O O O O = decide on [noun], choose [noun], order [noun]
*0O 0O =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be omitted.)] 0 O =if O

<supposition> <lt is followed by an expression that conveys the speaker’s judgement or a
question asking for the listener’s opinion.> //

oo ]
00 0000 D00 0O0OD0O0O0=Please press a red button.
*0000 g1 =press, push //
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(0 O = Ah! (expression of surprise, recollection, etc.), Oh!/
0 00O = Yes. OK.

0 0 0 0 O = after that, and also, | want to say one more thing /
oo
00 00 = alittle more /
O O
00 O OO =<plain-style-nonpast-affirmative>of 0 0 [0 00O O =wantto make [0 dark

(think)
*(A) O [stem of i-adjective] 0 00O 0, (A) O [stem of na-adjective] 0 0O 0 0O = make (A)

[adjective]
*(A) O [noun] O O OO = make (A) [noun]

*[noun] O O O O = decide on [noun], choose [noun], order [noun]
* [masu-form] O O O O =want to do O
0000 =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] 0 OO =

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— [0 can be changedto 0. //

And | want to make words a little more darker.

Oooo O

0000000 0000 000 O00000=Then, please press a yellow button.
*0000 g1 =press, push//

oo
00 00 O0O00O=When you make words lighter (thin),
oo
*0 000 =<plain-style-nonpast-affirmative> of 0 0 00 O O = make O thin (diluted)

* [plain-style (but, ‘da’ of [na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively.)]
0 O =when (X) do (did, is doing, was doing, etc) (I /

00 000000 =(X)is a white button //

When you make words lighter, please press a white button.
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000000000 00000 000000 =1see (Isthat so?). Thank you very much.
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